F#.3: (Double-Angle, Half-Angle)

4 3
Iftana = —§,§< a < 2m, then sec%=

@ -2

2
(b) = Half Angle
V3 Identity.

OF=
@ -2
(e) —V/5

If sin 6 =23£,0<9 <§,then sinzgz

2

NIRr w|kr

Half Angle
Identity.

Y
~

)2
D) 3
E) 2




5 0
If cscO = — where 3?" < 6 < 2m, then sec =

A) -8

2
B) _5s Half Angle
> Identity.
0L

5
D) —=

2

1
E)E

X X

cot= — cosxcot= =
2 2

(@) sinx
(b) cos x Half Angle
(C) tan x Identity.
(d) cotx

(e) cscx

The exact value of tan(607.5°), is

A)V2+1

B) —V3 -3 Half Angle
Identity.

C)—V2+1

D) —V/2-1

E)v2 -1




If cos(2a) = %,O <a< gand sin(2p) = -1, % < B < m, then tan(a —

p) =

A)7
B) <
C) -2
D) 10
E)5

Half Angle
Identity.

If0 <6 < 2m,cos = =and sin§ = =, then Sec(ﬂ) =
5 5 2

A)

B)

10

C) —

AR

LO
5
£y _ 10

4

D) —

Half Angle
Identity.

5 .
If tanx = —\/2—_37” < x < 2m, then 51n§=

A)

oS

B) — ¥

C) V6
D) —/6
E) 2V6

Half Angle
Identity.




5 0
If cscO = — where 3?" < 6 < 2m, then sec =

V5
A -2

B) _5s Half Angle
i Identity.
0L

5
D) —=

2

1
E)E

(sin22.5° + cos 22.5°)% =

A) 242

B)1 Half Angle

Identity.
o) 2

D) 222

E) 2

G-
Ccos > an 1 =

3v10

A) —
10

B) =

Half Angle
C) 10 Identity.

D) Y10

10

3
E)E




By using the half angle identities cos 3?" is equal to

Half Angle
Identity.

If cos 26 = % wheret < 6 < 37” then cot@ =

A)V3
B) —/2
)2
D) “3—7

E) 3v2

Half Angle
Identity.

X
sin? = =
2

tan x+sinx
) tanx
1-tanxsinx
) 2tan x
2tan x—sinx
) 2tanx
2tanx
)tanx+ﬂnx
tan x—sinx
) 2tanx

Half Angle
Identity.




If0 <0< 2mcosb = 2andsing =_—3, then sec(g) =
5 5 2

Half Angle
Identity.

1—cos 3x

is identical to:

A) sin? 2
2
B) cos =
2
C) ZsinZ
2 2
D) cos? 37x

E) sin? 6x

Half Angle
Identity.
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1-— smT B

2

A) sin—=
20
B) cos ==
20
C) —sin—
10
D) —cos —
10

E) cos —
10

Half Angle
Identity.




The exact value of 2sin(382.5°) =

A2 -2
B) -2 -2
C) V2 +v2
D) V2 +2
B)VVZ -2

Half Angle
Identity.

The exact value of tan(247.5°) is

A)V2+1
B)v2 -1
C)—V2+1
D) —V2-1
E)V2 +2

Half Angle
Identity.

Iftan0 = —

B w

0
,E<9<n,thencos(£——)=
2 2 2

A) 25

B)_E

c) L

10

D) — Y1

10

£y 210

Half Angle
Identity.




If sin@ = —%and tan@ > 0, then tang =

A) -3
3
B) —3 Half Angle
4 Identity.
C) -3
1
D) -
3
E) -

ze3)
CoS > an 4

A) 3vV10
10
B) 2 Half Angle
5 Identity.
3
C) m
D) Y0
10
E)-
2tan xcos? x — tan x
1 —tan?x a
A) sin xcos x Double Angle
B) cos? x and Half Angle
Identity.

C) —cot xsin? x
D) cotxsin? x

E) —secxcsc? x




The expression —————
2cos“ x+cosx—

sin 2x—sinx

- simplifies to

(a) tang
x Double Angle
(b) cot> and Half Angle
(c) cos x Identity.
2
. X
(d) sin~
X
(e) sec>
4tan x _
1+tan2x
(@) 2sin 2x
(b) 2cos 2x Double Angle
and Half Angle
(€) 2cot 2x Identity.
(d) 2sec2x
(e) 2csc2x
If sin@ = —Z, with 180° < § < 270°, then cos > + sin 26 =
24—54/5
A) =%
B) 5V5-24 Double Angle
25 and Half Angle
Q) 24+5v5 Identity.
25
24+5+/5
D) =%
V5-8

B) =&~




A) -2
8
V3 Double Angle
B) Iy and Half Angle
Identity.
o)
8
V2
D) 5
V6
E) -
The exact value of sin 15°(8 — 16sin?(7.5°%)) is equal to
(a) 2
b) 4
(b) Double Angle
(c)8 and Half Angle
1 Identity.
()2
1
€
If (sin2 E) (cos2 E) =a+ bcosx,thena-b =
1
A) e
B 1 Double Angle
) 36 and Half Angle
1 Identity.
C) -5
1
D) ~
E) ——




14+cos110°
> =

(@) sin 35°
(b) cos 65°
(c) sin15°
(d) —cos 55°
(e) tan 55°

Double Angle
and Half Angle
Identity.

The value of

A)2V3+1
B) 2v2
C)V2

D) 2+/3
F) 22

4sin 15°cos 15°

is
(cos 15°+sin 15°)(cos 15°—sin 15°)

Double Angle
Identities.

tan x

cotx

tanx + cotx

A) —cos 2x
B) sin 2x
C) —tan 2x
D) cot 2x
E) —sec2x

cotx + tanx

Double Angle
Identities.
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Double Angle
Identities.

9/2sin <2cos‘1 (— %)) =

A) -4
B) -6
C)8
D) 6
E) -8

Double Angle
Identities.

If cos 26 =%and§<9 < m,thentan@ =

3
INE

3
B)>

C)—=

3
24

D)_E

4
E)

Double Angle
Identities.




4
2cos™ (_ _)] N
cot|Zcos z

7
A -5

24
B)7
5
C)g

5
D) -5

7
E)_E

Double Angle
Identities.

If sin 3x = Asin®x + Bsinx, then A + B =

A) -7
B) -1
C) 1
D) -2
E) 2

Double Angle
Identities.

cos3a =

A) 3cos® a — cosa

B) 2cos3® a — 4cos a
C) 4cos3 a — 3cos a
D) 3cos® a + 4cos a

E) 4cos® a + cosa

Double Angle
Identities.




The exact value of tan [2cos‘1 ﬂ =

A) VI

B) 2

c) - V13

D)

E) 34

Double Angle
Identities.

cot [2cos‘1 (— %)] -

A)—%
B)—%
C)—%
D)%

7
E)Z

Double Angle
Identities.

The value of 1 — cos?(20°) — cos?(70°) is

A) cos?(90°)

B) sin?(90°)

C) sin?(70°)

D) 1 — sin?(20°)

E) sin?(20°) — cos?(20°)

Double Angle
Identities.




If 2sin™1= = 2w + cos™ 1 x, then x =

u|w

A)

&~

B) — 2

24
C) =
13

D)_E

F)—2

Double Angle
Identities.

tan 6 + cotd
tan@ — cotf

A) —sec 26
B) —csc 26
C) csc 26
D) cos26
E) sec26

Double Angle
Identities.

.9 T
sm8c058—

Double Angle
Identities.




If P is the period and A is the amplitude of the function y = 2sin mxcos mx,
thenA+P =

A) 2
B) 0
C)3
D)2

E)1++/5

Double Angle
Identities.

csc? x + csct x

2+ csc?x —csctx

A) —sec2x
B) sec 2x
C) csc2x
D) —csc2x
E) cot2x

Double Angle
Identities.

o o 2 2tan§
(sin® 15 + cos®° 15)“ + equals to

1-tan2Z

Double Angle
Identities.




3 — 85in?(22.5°) cos?(22.5°) =
A) 2
B) 0 Double Angle
Identities.
)1
D) -1
E) -2
T T
cotﬁ — tanﬁ B
T T —
cotﬁ + tanﬁ
V3
A) > Double Angle
1 Identities.
B) -
2
V3
C) 5
D) V3
V3
E) ”
cosf +sinf cosf —sinf _
cos@ —sinf cosf +sinf
A) 2tan 26
Double Angle
B) 2cot 26 Identities.
C) 2sec 26
D) 2csc 26
E) 2sin 26




tan (ZSin_1 —) =

12

A) =
B) =
)=
D)2

3
E)E

Double Angle
Identities.

If tanx = 3,sinx < 0, then sin 2x + cos 2x =

A) -3
B) <
OF
D) -2

E)1

Double Angle
Identities.

1
Esin 15°sin 75° =

1
A)g

B) -

4

V3
c)-2

D)2

4

V3
E)?

Double Angle
Identities.




If p = sin 165°cos 165° and g = cos? g — % thenp + q =

Double Angle
Identities.

If sinx = —g,n <x< 37” then 48cot 2x + 7sec 2x =

A) 39
B) -39
C) 11
D) -11
E) 32

Double Angle
Identities.

If cos 20 = %, wheret < 8 < 37”, then cot@ =

A)V3
B) —/2
)
D) 2
E) 3v2

Double Angle
Identities.




The exact value of tan [2cos‘1 ﬂ =

A) VI

B) 2

c) - V13

D)

E) 34

Double Angle
Identities.

cot [2cos‘1 (— %)] -

A)—%
B)—%
C)—%
D)%

7
E)Z

Double Angle
Identities.

Which one of the following equations is an identity?

A) sin* x — cos* x = —cos 2x
B) singcosg = 2sin x.
C)tan?x —sec?x =1

D) sec(x) + sec(—x) =0
E)sinx = V1 — cos? x

Trigonometric
Identities.







